/V,:)mem‘vw‘ for Rige/

LI *'IW‘P,_’Z =L2

n
Hq = S KRV, pm; = g r'xvAm

1=
T
H0| ‘1‘28\ Modt:Hbl
l'( No (onstent
Hbl '8 éMDAt """“07

Bosies

[

\—






The rotor of an electric motor has a mass of 25 kg, and it 1s observed
that 4.2 min 1s required for the rotor to coast to rest from an angular
velocity of 3600 rpm. Knowing that kinetic friction produces a couple
of magnitude 1.2 N-m, determine the centroidal radius of gyration for
the rotor.
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A bolt located 2 in. from the center of an automobile wheel is tight-
ened by applying the couple shown for 0.10 s. Assuming that the
wheel 1s free to rotate and is initially at rest, determine the result-

ing angular velocity of the wheel. The wheel weighs 42 1b and has a
radius of gyration about its mass center of 10.8 in. = 04 rt
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A 45-g bullet 1s fired with a velocity of 400 m/s at @ = 30° into a 9-kg
square panel of side » = 200 mm. Knowing that 2 = 150 mm and that
the panel 1s initially at rest, determine (a) the velocity of the center of the
panel immediately after the bullet becomes embedded, (b) the impulsive
reaction at A, assuming that the bullet becomes embedded 1n 2 ms.
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